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sinx =a,|lal <1
t = (-1 arcsina + mk

COS U=

{ =tarccosa+2rk
foy — o

x =arctga +rnk, k € Z.
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2co0s*x + cosx = 0: AgidtZ WG o
cosx(2cosx + 1) = 0; 3x% +5x =0
cosx = 0 uiu x(3x+5)=0

zcosx +1=0; 1 x=0mwm3x+5=0
cosx = 0 UIU cosSx = — —: 5
A 2 X=0uwimmx = ~3

Pa3noxeHue Ha
MHOXUTEeNnu

T 2T
x=5+nnnnnx=i?+2nk;



2c0s*3x — 5co0s3x —3=0:

2— S— —
cos3x =1t [t|<1 2(x+1)°—5(x+1) 0
262 —5t—3 =0 1=t
T 2t2—5t—3=10
t=3wmt=—z t=3wmt=—5
cos3x =3 1
HeT X+ 1=3unu x_|-1=_E
1
cossz—E
3 = iZT” +2nk;  BBeAeHne HOBOW
2w 27k Hen3BEeCTHOM
X=t—+—
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2x—-5)2x+9)=0
. 2x—-5)=0umu 2x+9) =0

(sinx — E) (cosx + 1) = 0; x=25ummx=—-45
(sinx — %) = 0 unu(cosx + 1) = 0;

xX= (—1)"% + mn
[lponsBeneHue paBHO
HYrI1O,
Korga xotst Obl OAUH U3
MHOXUTeren paBeH
Hyno, a
APYrouv npuv 3Tom He
TepsieT

y =0+ 2k



4sin3x + cos?3x = 4
cos*3x =1 — sin“3x
4sin3x+ 1 —sin’*3x -4 =0
sin’3x — 4sin3x+3 =0
sin3x =t Itlgl t2—4t+320

sin3x = 300as t=1uniut=3

peLleHns
sin3x; j §

3x = — + 2
X > mn

_n+27tn
Sl R




COSX
—=0
1+ sinx

{ cosx = 0,
1+ sinx # 0.
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